Answers to Selected Problems

Chapter 5

5.6      (a) Project A: 5 years, (b) Project D: 4years, (c) Project A: 7 years
5.7       PW(9%) = $11,076
5.9 (a) PW(10%) = $1,453.90
5.12      PW = $7,858
5.15      (a) FW = $22,404
5.21     (a) A1 = $200, A3 = $550, A4 = -$100

(b) i = 10%, PW(10%) = $55.88

5.26
$3,034

5.29
$1,165,019

5.32     PW(12%)A = $183,070



PW(12%)B = $222,230



Select B.

5.37
Select Model A.

5.40     Method A: CE(12%)A = $43,117.50; Model B: CE(12%)B = $75,312.50

5.45
Bid A is better.

5.46
Option 1: PW(12%) = -$304,320; Option 2: PW(12%) = -$258,982

